15-1

GRATES AND DRAINS

CLEANOUT COVERS MISCELLANEOUS REPLACEMENT GRATES
PART # DESCRIPTION PART#  DESCRIPTION

47471082 4-11/16” Josam, 3 screw 47692000 3-1/2” stainless steel, 2 screw
47471084 6-5/16" Josam, 3 screw 47692002 4’ stainless steel, 2 screw
47761070 5-7/16" Smith, 3 screw w/ closure plug 47693002 4’ polished brass SIS, 2 screw
47941108 6-1/4" Wade, 3 screw 47694002 4’ antique gold S/S, 2 screw
47991400 4-5/8" Zurn, 3 screw 47556836  4-5/8" stainless steel, 2 screw
47991402 6-1/8" Zurn, 3 screw
47691054 5-1/2" Brass replacement cover, 2 screw
47691056 5-1/2" Plastic replacement cover, 2 screw

PART # DESCRIPTION
47692004 4’ polished bronze, 2 screw
47692005  4-1/4” polished bronze, 2 screw
40800567  4-3/4” polished bronze, 2 screw
40800536  5-1/2" polished bronze, 2 screw
47692008  7-1/2" polished nickeland, 3 screw

FLOOD-GUARDS o FLAT STRAINERS

Prevents flooding in basements or low areas with drains. ITEM PART#  DESCRIPTION

Operates like a check valve. e £/q
PART # SIZE 1 40801220  Shower strainer — Cascade 4-5/8

2 40801221  Shower strainer — Terrazzo floors 4”
3 40801222 Flat strainer — molded stone mop basin
40801223  Domed strainer — molded stone mop basin

40800154 For 2" Drains
40800155 For 3” Drains
40800156 For 4” Drains

=
‘
2
1 3
DROP-IN FLOOR DRAIN STRAINER FLANGED FLOOR FLOOR DRAIN STRAINER
Fits most deep, white floor drains. Keeps DRAIN STRAINER Fits most small floor drains.
food, mop strings, etc. from clogging drain. 11-3/4" top flange, 8-1/2" basket width and PART # 47501012
8-1/2" x 8-1/2" x 2-1/2" high. 4" high. Heavy duty plastic.
PART # 47501010 PART # 47501503
’
L J
TOTAL HOUSTON ORLANDO GREENVILLE
MAINTENANCE 800/392-5066 800/327-3022 800/476-2212

SOLUTIONS LOOK FOR US ON THE WEB AT: www.TMSSouth.com




15-2
GRATES AND DRAINS

CAST IRON GRATES CLEAN-OUT PLUGS (HOLLOW)
PART # DESCRIPTION

52750011 1-1/2” raised hub brass clean-out
40800178 2" raised hub brass clean-out
40800180 2-1/2" raised hub brass clean-out
40800182 3” raised hub brass clean-out
40800184 3-1/2" raised hub brass clean-out
40800186 4" raised hub brass clean-out
40800188 5" raised hub brass clean-out
40800190 6" raised hub brass clean-out
40801027 8" raised hub brass clean-out

PART # SIZE
40800133 5-1/2" PART # DESCRIPTION
40800134 6 96925938 1-1/2” raised hub PVC clean-out

96925939 2" raised hub PVC clean-out
40801028 2-1/2" raised hub PVC clean-out
96925941 3” raised hub PVC clean-out
40801029 3-1/2" raised hub PVC clean-out

47751034  6-1/4”
40800136  6-1/2"
47751040  6-3/4

40800139 7 S /2
47751037 7-1/4” 40900961 4" raised hub PVC clean-out
47751041 7-1/2" 96926146 6" raised hub PVC clean-out
47751042 7-3/4 PART#  DESCRIPTION
40801039 8 "

» 40801030 1-1/2" countersunk PVC clean-out
arrsoizr 8114 96690009 2’ t k PVC cl t
47751046 8-1/2" countersun Cclean-ou

40801031 2-1/2" countersunk PVC clean-out
96690010 3” countersunk PVC clean-out
40801032 3-1/2" countersunk PVC clean-out
96690011 4" countersunk PVC clean-out

47691010 8-3/14”
47752036 9’
40800142 9-1/4”
40800157 9-1/2"
47751052 9-3/4”
40800143 10"
47751024 11-3/8” PART # DESCRIPTION

52750110 1-1/4” countersunk brass clean-out
52750111 1-1/2” countersunk brass clean-out
40800179 2" countersunk brass clean-out
40800181 2-1/2" countersunk brass clean-out
40800183 3" countersunk brass clean-out
40800185 3-1/2" countersunk brass clean-out
40800187 4” countersunk brass clean-out
40800189 5" countersunk brass clean-out
40800191 6" countersunk brass clean-out

Our website is
coming soon! RUBBER EXPANSION PLUGS

Stainless steel slotted screw, washer and wing nut.

www.itmssouth.com

3/4” thru 1-1/2" 1-1/27 thru 4

PART#  DESCRIPTION PART#  DESCRIPTION

52371391  3/4” & 1" pipe 52371396 1-1/2” fitting

52371392 1" fitting 40800145  1-1/2” Pipe Econo Plug

40800634  1-1/4” pipe 40800146 2’ Pipe Econo Plug

52371394  1-1/2’ pipe 40800147 3’ Pipe Econo Plug

52371395  1-1/2’ pipe / 1-1/4” fitting 40800148 4’ Pipe Econo Plug
TOTAL HOUSTON ORLANDO GREENVILLE
MAINTENANCE 800/392-5066 800/327-3022 800/476-2212

SOLUTIONS LOOK FOR US ON THE WEB AT: www.TMSSouth.com




15-3

GRATES AND DRAINS

ZURN REPLACEMENT GRATES
ZURN Z- 400 & Z-415 TYPE “N” ZURN Z-400 & Z-415 TYPE “B”
PART#  DESCRIPTION PART#  DESCRIPTION 0880080
s - S E % 5 \\\ 40800404  7"x 3/16 40800270 5" Brass grate, 3 screw el
/Qg 0 g [[:) S oo\ 40800405 9 "x 3/16 40800271 6" Brass grate, 3 screw ééggggg
d a0 = )
| 00059000 J 5§§§§§5
Noooooor = g
\ 000aoo / =Ja]atatalats
\KJE]@DV// Q0,00
ZURN 2-500 SERIES ZURN Z-700 SERIES N
ST PART # DESCRIPTION PART # DESCRIPTION /( . N ,
// 40800406  Z-554, 6" 40800408  Z-742, 7" / i |
/ U U | [ 40800407  Z-508, 8" 47990430  Z-730, 8-1/4 I J 1 ? 1 B \
[ - | - o
! - k 11 I N ‘7 ,I
| I :
NI 1
) /
N YU / e ://
T T
ZURN SQUARE REPLACEMENT GRATES
gjﬂﬂﬂq” Uﬂﬂﬂ;c oEAfEEEaaE PART#  DESCRIPTION
=."| = 88%88% %%8% 40800369 4-5/8” x 4-5/8, Z-4008S, bronze grate, 4 screw
— — 40800370  5-5/8" x 5-5/8", Z-4008S, bronze grate, 4 screw
O ala e 40800371  6-5/8" x 6-5/8", Z-158, bronze grate
== — 000oocooggg 40800372  8-7/8" x 8-7/8”, Z-154, bronze grate
S h== 0ooocgooog
UH” [ﬂﬂ = 000000000
aﬂ TR 00000000
Z 154 | Z-158 Z-4008
ROUND ACCESS COVERS SNAP-ON DRAIN GRIDS
PART # DESCRIPTION PART # DESCRIPTION
40800203 3" Dia. Stainless Steel 40800109 3" Snap-On drain cover
40800204 4” Dia. Stainless Steel for 2" drain
40800205 5" Dia. Stainless Steel 40800110 4" Snap-On drain cover
40800206 6" Dia. Stainless Steel for 3” drain
40800208 8" Dia. Stainless Steel 40800111 5” Snap-On drain cover
40800212 1/4” x 4" Machine Screw for 4” drain
40800213 1/4” x 6" Machine Screw
SIOUX CHIEF REPLACE-IT™ iner i
Install strainer in
ADJUSTABLE DRAIN STRAINER the drain open-
Replaces old, rusted and broken cast iron strainer or ing. Slide the
bar grates. S/S, corrosion proof. Adjustable screw clips clip sets outward
to fit almost any drain. until they contact
7-1/4" dia., for 3-1/4" — 6-3/4" drain openings. the drain.
Tighten bolts.
PART # 40800274
TOTAL HOUSTON ORLANDO GREENVILLE
MAINTENANCE 800/392-5066 800/327-3022 800/476-2212
SOLUTIONS LOOK FOR US ON THE WEB AT: www.TMSSouth.com




15-4

GRATES AND DRAINS

JOSAM REPLACEMENT GRATES
o PART # DESCRIPTION
V7. (e 40800316  3-5/8” Brass strainer, 3 screw
/@@@ ~ @@ 40800268  4-5/8" Brass strainer, 3 screw
J/J (7 @J E§ Q\\ 40800269  5-1/4” Brass strainer, 3 screw
= q D D = 40800317  6-7/16" Brass strainer, 3 screw
“)\@ =5 UU / 40800318  7-1/8" Brass strainer, 3 screw
=7 s
Nae /v&/é 3-1/2” Satin Brass w/ center screw hole.
%@q? PART # 40800330
&
MORE BRASS REPLACEMENT GRATES JOSAM SQUARE GRATES
PART # DESCRIPTION _
40800319  5-17/64", Brass 3 screw, 6E-1 © -
40800320  6-7/16", Brass 3 screw, 7E-1 H H H H H H H
40800322  7-1/4”, Brass 3 screw, 9AD
40800321  8-1/8", Brass 3 screw, 9A-2 H H H H ﬂ H H T
® GEO 4A0R0RAN
QOo0o0oD iy
aoOooodo Oa0a05050R0
aooooooe L"?\]UEJD’J;J#@;
\JBEEEEE Jgtntgtn PART#  DESCRIPTION
ADO00D SUrURME| o
o 00D Jallg[lat” 40800323  4-1/2" x 4-1/2’ bronze
~_ R grate, 4 screw
Josam 6E-1 & 7E-1 Josam 9-A 40800324  5-5/8" x 5-5/8" bronze
grate, 4 screw
SMITH REPLACEMENT GRATES WADE REPLACEMENT GRATES
//5’/8 8 8 g é n\ PART # DESCRIPTION
20060005 40800325 3-1/2 x 3112
20000008 ronze grate, 4 screw
"oooooor// 40800326  4-9/16" x 4-9/16”
NJP000% Bronze grate, 4 screw
SN
PART # DESCRIPTION
40800409  4-5/8” Nickel bronze grate, 2 screw PART # DESCRIPTION
40800410  5-5/8” Nickel bronze grate, 2 screw 40800327  4-5/8" Brass grate, 2 screw
40800411 6-3/8" Nickel bronze grate, 2 screw 40800328  5-3/8" Brass grate. 3 screw
TYPE “D” HINGED GRATE
PART# ~ DESCRIPTION PART#  DESCRIPTION
40800368 5" x 5" Bronze grate, 4 screw 40800329 6" Nickel Bronze
40800412 6" x 6" Bronze grate, 4 screw strainer, w/ hinged grate
40800413 8" x 8" Bronze grate, 4 screw ’
TOTAL HOUSTON ORLANDO GREENVILLE
MAINTENANCE 800/392-5066 800/327-3022 800/476-2212
SOLUTIONS LOOK FOR US ON THE WEB AT: www.TMSSouth.com




15-5
GRATES AND DRAINS

MISCELLANEOUS FLOOR DRAINS
PART # DESCRIPTION
40800557 2 x 3 Bolt-down shower drain
40800558 Floor grate shower stall drain — 2"
with stainless steel strainer
40800373  Chrome plated no-caulk shower stall drain
40800374 Polished brass no-cauk shower stall drain

40800557 40800373 and 40800558
40800374

TRAP STANDARDS
PART # DESCRIPTION

47766001 Smith CP strainer w/ gasket 9110SCP
47766005  Smith, gasket only for CP strainer 70272-94-6
47766010  Smith, gasket for CP strainer in S/S sink 70693-94-6
47766015  Smith Floor Flange 02898-21-1
47766020  Smith Nipple for flange 74020-81-50-026
47766025  Smith Locknut 76333-86-6
47766030  Smith bronze cleanout plug w/ o-ring, 00726-50-4
47766035  Smith O-Ring only 70629-94-6
01898040  American Standard grid drain 015809-0020A
01898045  American Standard strainer cover 078479-0020A
01898050  Amercian Standard cleanout plug 028916-0070A
01898055  American Standard cleanout plug washer 000223-0070A
(09893400 Kohler strainer plate for K-6673
(09893380 Kohler strainer gasket for K-6673
09893384  Kohler cleanout plug for K-6673
09893385  Kohler cleanout plug gasket only for K-6673

OATEY PVC TOP GRATES FOR FLOOR SINKS
PART # DESCRIPTION

47602751 Half top grate for floor sink H
47602752  Three-quarter top grate for 8 D|d you KnOW?

floor sink ) . .
47602753  Full top grate for floor sink g\\\\\ The earth 'IS d Closed' SyStem’.SImllar
AN to a terrarium, meaning that it rarely
9.15 9.15 0/][7 l .
), oses or gains extra matter. The same
7ZRNN L{/)) 8 _
ﬁ% =0 water that existed on the earth
9.15 ﬁ& 9.1

8 o millions of years ago is
& %% % I still present today.
v N
All grates are 3/4" thick & %

TOTAL HOUSTON ORLANDO GREENVILLE
MAINTENANCE 800/392-5066 800/327-3022 800/476-2212

SOLUTIONS LOOK FOR US ON THE WEB AT: www.TMSSouth.com




15-6
GRATES AND DRAINS

CHEMICAL RESISTANT FLOOR SINKS

e —
PART # DESCRIPTION ZURN
47991900 Zum Z-1900, 12" x 12" Sani-Flor Receptor
47991926  Zurn Z-1926, 16” x 16” Sani-Flor Receptor T ——
47991910  Zurn Z-1910, 8” x 8" Sani-Flor Receptor ZURN 1900 SERIES SANI-FLOR RECEPTORS
47991930 Zurn Z-1930, 8" x 4” Sani-Flor Receptor ARE MEDIUM DUTY FLOOR SINKS, WITH WHITE ACID
47991960 Zumn Z-1960, 8" Diameter Sani-Flor Receptor RESISTING PORCELAIN ENAMEL INTERIORS AND
Dome strainers same as 1800 series TOPS, WITH ANTI-SPLASH BOTTOM DOME
STRAINERS. AVAILABLE IN MULTIPLE GRATE SIZES,
SHAPES, AND SUMP DEPTHS.
7-1926 Z-1900
TRAP PRIMERS AND KITS
ZURN JOSAM REPAIR KIT
PART # DESCRIPTION PART # 40801203
40801200 Manufactured from 1959 — 1984 Complete Unit # 40801206

40801201 Manufactured from 1984 — 1999
40801202 Manufactured from 1999 — Present
40801205  Complete Unit

Complete Unit

Complete Unit
1959-1984

WATTS/JR SMITH REPAIR KIT
PART # 40801204
Complete Unit # 40801207

1984-1999

1999-Present
Complete Unit
TOTAL HOUSTON ORLANDO GREENVILLE
MAINTENANCE 800/392-5066 800/327-3022 800/476-2212

SOLUTIONS LOOK FOR US ON THE WEB AT: www.TMSSouth.com




15-7

GRATES AND DRAINS

JOSAM IRON GRATES & BUCKETS el DA
PART # DESCRIPTION I Blig D
47472080  Grate 32020 (34220) series, 6-1/4” Tyt 10 18 7

47472075  Grate 31100 series, 8-1/8”

47472076 Grate 31200 series, 11-3/4”

47473918  Grate 31120, 32120 & 32130 series, 8-1/8”

47473921 Bucket 31120, 31120, 32130 series

47472030  Grate 31220, 31230, 32220, 32320 series 11-3/4” 32030 Series
47473000  Bucket 31220, 31230, 32220 series

47472090 Bucket 32320 series

47472070  Tractor Top Grate 31600 series 7-1/4”

47472060  Tractor Top Grate 31700 & 31710 series 10

31100 Series

31220, 3120, 32220
& 32320 Series

31600 Series
MISCELLANEOUS BUCKETS & GRATES W-1310 TD — [YYid—
PART#  DESCRIPTION sk —— “‘— I
47762112 Smith Grate 2110 series 8"

47762220 Smith Grate 2220 series 6-1/2”
47762221 Smith Bucket 2220 series
47941310 Wade Grate W-1310TD
47941311 Wade Bucket W-1310TD
47990550 Zurn Grate Z-550 series 8-1/2”
47990551 Zurn Bucket Z-550Y series

Z-550 Series

2110 Series
TOTAL HOUSTON ORLANDO GREENVILLE
MAINTENANCE 800/392-5066 800/327-3022 800/476-2212

SOLUTIONS LOOK FOR US ON THE WEB AT: www.TMSSouth.com




15-8
GRATES AND DRAINS

FLOOR SINK GRATES & STRAINERS
PART # DESCRIPTION 40801060

40801060  Jones Stephens Dome Strainer for PVC floor sinks
47474900 Josam Grate 49000 series
47474901 Josam Dome Strainer 49000 series
47763100 Smith Grate 3100 series
47763101 Smith Dome Strainer 3100 series (small)
47763105  Smith Dome Strainer 3100 series (large)
47949140 Wade Grate 9140 series e —
47949141 Wade Dome Strainer 9140 series -
47991800 Zurn Grate ZN-1800 series
47991802 Zurn Dome Strainer ZN-1800 series, aluminum
40800360 Zurn Dome Strainer, 6-5/8" aluminum
47991810 Zurn Grate ZN-1810 series ;
40800358  Zurn Dome Strainer ZN-1810 series, 6" poly
40800359  Zurn Dom Strainer, 6-5/8" poly JOSAM 49000 4

SMITH 3100 47474901 e 1% x1134 —
3 10 '6x10 Yo—i|
[
S . -ij ) .J
dio e
WADE 9140
47763105
47763101
-aaw§mmma
Slels lwielv
poae Lo e Fa Fac Tav g
758" e
S : 47949141
1]
N ZURN 1810
J 1 b
ZURN 1800
40800358, 40800359
47991518, 40800350 MORE FLOOR STRAINERS ON PAGE 2-9
TOTAL HOUSTON ORLANDO GREENVILLE

MAINTENANCE 800/392-5066 800/327-3022 800/476-2212
SOLUTIONS LOOK FOR US ON THE WEB AT: www. TMSSouth.com




